RECIPROCITY THEOREM OF RAMANUJAN AND ITS APPLICATIONS

Praveen Kumar¹ and Dr. Ranjana²

¹Research Scholar University Department of Mathematics T.M. Bhagalpur University, Bhagalpur ²Professor and Head University Department of Mathematics T.M. Bhagalpur University, Bhagalpur

ABSTRACT

In his lost notebook, Ramanujan has stated a beautiful two variable reciprocity theorem. Its three and four variable generalizations were recently, given by Kang. In this paper, we give new and an elegant approach to establish all the three reciprocity theorems via their finite forms. Also we give some applications of the finite forms of reciprocity theorems.

Keywords : Reciprocity theorem, Theta function, Function identities etc.

Introduction :

In this section, we obtain the generalizations of using Reciprocity theorem. Further, we deduce an interesting identity which contains the Jacobi's identity as a special case. There from we obtain a number of identities involving theta functions which are analogous to the theta function identities found in Ramanujan's second notebook [99].

Definition 1.1

We define F(a,b,c) by

$$F(a,b,c) := \sum_{n=0}^{\infty} \frac{a^{n(n+1)/2} b^{n(n-1)/2}}{(c/b;ab)_{n+1}} + \sum_{n=1}^{\infty} \frac{a^{n(n-1)/2} b^{n(n+1)/2}}{(-c;ab)_{n}}, \quad (1.1)$$

Where $|ab| < 1, c \neq a^n b^{n+1}, -a^n b^n; n = 0, 1, 2, ...,$

Then, we have

$$F(a,b,0) = f(a,b),$$

Where (a, b) is the Ramanujan's theta function.

Theorem 1.2.

We have

$$f(a,b,c) = \frac{(-a;ab)_{\infty}(-b;ab)_{\infty}(ab;ab)_{\infty}}{(-c;ab)_{\infty}(c/b;ab)_{\infty}}$$

Proof. Changing q to q^2 and z to z/q and then setting qz = a and q/z = b in the resulting identity

we obtain (1.3)

Theorem 1.3

We have

$$F\left(q^{(k+m)/2}, q^{(k-m)/2}, cq^{k/2}\right) \times \left[x + p\sum_{n=1}^{\infty} \left(\frac{q^{kn-(k-m)/2}}{1+q^{kn-(k-m)/2}} - \frac{q^{kn-(k+m)/2}}{1+q^{kn-(k+m)/2}} + \frac{cq^{kn-k+m/2}}{1-cq^{kn-k+m/2}}\right)\right]$$
$$= \sum_{n=0}^{\infty} \frac{(pn+x)q^{(kn^2+mn)/2}}{(cq^{m/2};q^k)_{n+1}} + \sum_{n=1}^{\infty} \frac{(-pn+x)q^{(kn^2-mn)/2}}{(-cq^{k/2};q^k)_n} + \sum_{n=0}^{\infty} \frac{q^{(kn^2+mn)/2}}{(q^{m/2};q^k)_{n+1}} \left(\sum_{r=0}^{n} \frac{pcq^{rk+m/2}}{(1-cq^{rk+m/2})}\right)$$
(1.2)

and

$$F\left(-q^{(k+m)/2}, -q^{(k-m)/2}, cq^{k/2}\right) \times \left[x - p\sum_{n=1}^{\infty} \left(\frac{q^{kn-(k-m)/2}}{1 - q^{kn-(k-m)/2}} - \frac{q^{kn-(k+m)/2}}{1 - q^{kn-(k+m)/2}} + \frac{cq^{kn-k+m/2}}{1 + cq^{kn-k+m/2}}\right)\right]$$
$$= \sum_{n=0}^{\infty} \frac{(-1)^{n} (pn+x) q^{(kn^{2}+mn)/2}}{(-cq^{m/2};q^{k})_{n+1}} + \sum_{n=1}^{\infty} \frac{(-1)^{n} (-pn+x) q^{(kn^{2}-mn)/2}}{(-cq^{k/2};q^{k})_{n}}$$
$$-\sum_{n=0}^{\infty} \frac{(-1)^{n} q^{(kn^{2}+mn)/2}}{(-cq^{m/2};q^{k})_{n+1}} \left(\sum_{r=0}^{\infty} \frac{pcq^{rk+m/2}}{(1 + cq^{rk+m/2})}\right).$$
(1.3)

Changing q to q^2 , z to z/q c to cq

We obtain

$$\prod_{n=1}^{\infty} \frac{\left(1+zq^{2n-1}\right)\left(1+z^{-1}q^{2n-1}\right)\left(1-q^{2n}\right)}{\left(1+cq^{2n-1}\right)\left(1-czq^{2n-2}\right)} = \sum_{n=0}^{\infty} \frac{q^{n^2}}{\left(cz;q^2\right)_{n+1}} z^n + \sum_{n=1}^{\infty} \frac{q^{n^2}}{\left(cz;q^2\right)_n} z^{-n}$$
(1.4)

Replacing q by q^k and z by $z^p q^m$, (1.4) can be written as

$$\prod_{n=1}^{\infty} \frac{\left(1+z^{p}q^{2nk-k+m}\right)\left(1+z^{-p}q^{2nk-k-m}\right)\left(1-q^{2kn}\right)}{\left(1+cq^{2nk-k}\right)\left(1-cz^{p}q^{2nk-2k+m}\right)}$$
$$=\sum_{n=0}^{\infty} \frac{q^{kn^{2}+mn}z^{pn}}{\left(cz^{p}q^{m};q^{2k}\right)_{n+1}}+\sum_{n=1}^{\infty} \frac{q^{kn^{2}-mn}z^{-pn}}{\left(-cq^{k};q^{2k}\right)_{n}}$$
(1.5)

Change q to $q^{1/2}$ in (1.5), multiply the resulting identity throughout by z^x , to obtain

$$z^{x} \prod_{n=1}^{\infty} \frac{\left(1 + z^{p} q^{nk - (k-m)/2}\right) \left(1 + z^{-p} q^{nk - (k+m)/2}\right) \left(1 - q^{kn}\right)}{\left(1 + cq^{nk - k/2}\right) \left(1 - cz^{p} q^{nk - (k+m)/2}\right)}$$

$$= \sum_{n=0}^{\infty} \frac{q^{(kn^{2} + mn)/2} z^{pn + x}}{\left(cz^{p} q^{m/2}; q^{k}\right)_{n+1}} + \sum_{n=1}^{\infty} \frac{q^{(kn^{2} - mn)/2} z^{-pn + x}}{\left(-cq^{k/2}; q^{k}\right)_{n}}$$
(1.6)

(1.6) with respect to z and setting z = 1, we obtain (1.3) on using (1.2).

Change q to q^k, z to $-z^p q^m$ in (1.5); replace q by $q^{1/2}$ in the resulting identity and multiply throughout by z^x ; differentiate the resulting identity with respect to and set z = 1, and use (1.2) to obtain (1.4).

Theorem 1.4.

We have

$$\sum_{n=0}^{\infty} \frac{(-1)^n (2n+1)q^{n(n+1)/2}}{(-c)_{n+1}} - \sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(-c)_{n+1}} \left(\sum_{k=0}^n \frac{cq^k}{1+cq^k}\right) = \frac{(q)_{\infty}^3}{(-c)_{\infty}^2}.$$
 (1.7)

Proof. (2.1.1) can be written as

$$\sum_{n=0}^{\infty} q^{n(n+1)/2} z^{-n-1} \left[\frac{1}{(-c)_{n+1}} + \frac{z^{2n+1}}{(cz)n+1} \right] = \frac{(1+z)(-qz)(-q/z)_{\infty}(q)_{\infty}}{z(-c)_{\infty}(cz)_{\infty}}.$$
 (1.8)

Multiplying (1.8) throughout by $\frac{z}{1+z}$ and then taking the limits as $z \rightarrow -1$, we obtain (1.9).

Corollary 1.5

$$f(-q) = \sum_{n=0}^{\infty} \frac{(-1)^n (2n+1)q^{n(n+1)/2}}{(q)_{n+1}} + \sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(q)_{n+1}} \left(\sum_{k=1}^{n+1} \frac{q^k}{1-q^k}\right).$$
(1.9)

Proof. Setting c = -q, we obtain (1.9).

Corollary 1.6

$$\varphi^{2}(-q)f(-q) = \sum_{n=0}^{\infty} \frac{(-1)^{n} (2n+1)q^{n(n+1)/2}}{(-q)_{n+1}} - \sum_{n=0}^{\infty} \frac{(-1)^{n} q^{n(n+1)/2}}{(-q)_{n+1}} \left(\sum_{k=1}^{n+1} \frac{q^{k}}{1+q^{k}}\right).$$
(1.10)

Corollary 1.7

:

$$\psi^{2}(-q)f(-q^{2}) = \sum_{n=0}^{\infty} \frac{(-1)^{n}(2n+1)q^{n(n+1)}}{(q;q^{2})_{n+1}} + \sum_{n=0}^{\infty} \frac{(-1)^{n}q^{n(n+1)}}{(q;q^{2})_{n+1}} \left(\sum_{k=1}^{n+1} \frac{q^{2k+1}}{1-q^{2k+1}}\right).$$
(1.11)

Proof. Changing *q* to q^2 and then setting c =-q, we obtain (1.11).

The Ramanujan's reciprocity theorem found in his lost notebook [101], can also be stated as

$$\sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(cz)_{n+1}} z^n + \sum_{n=1}^{\infty} \frac{q^{n(n-1)/2}}{(-c)_n} z^{-n} = \frac{(-qz)_{\infty} (-1/z)_{\infty} (q)_{\infty}}{(-c)_{\infty} (cz)_{\infty}}, \qquad (1.12)$$

where $|q| < 1, z \neq 0$, $c \neq -1$, $-q^{-n}$, where $n \in Z^+$. In fact setting a = -cz/q and b = c/q we obtain (1.12) of the present paper we give proof of (1.11).

The firs proof is based on the well-known Euler-Cauchy q-binomial theorem.

$$\sum_{n=0}^{\infty} \frac{(a)_n}{(q)_n} z^n = \frac{(az)_{\infty}}{(z)_{\infty}}.$$

References :

- C. Adiga and N.Anitha, On a reciprocity theorem of Ramanujan, Tamsui J. Math. Sci., 22 (2006), 9-15.
- [2] C. Adiga and P.S. Guruprasad, On a three variable reciprocity theorem, South East Asian Journal of Mathematics and Mathematical Sciences, Vol. 6, 2(2008), 57-61.
- [3] C. Adiga and P.S. Guruprasad, A note on four variable reciprocity theorem, Int. Jour. Math. Math Sci, Vol. 2009 doi: 10, 1155/2009/370390.
- [4] G.E. Andrews, Ramanujans 'lost' notebook Ι, Partial θ-functions, Adv. in Math., 41 (1981), 137-172.
- [5] G.E. Andrews and B.C. Berndt, Ramanujans Lost Notebook, Part II, Springer, New York, 2009.
 [6] W.N.Bailey, Series of hypergeometric type which are infinite in both directions, Quart. J. Math., 7 (1936), 105-115.
- [7] W.N. Bailey, On the basic bilateral hypergeometric series 2ψ2, Quart. J. Math. Oxford Ser.,
 (2) 1 (1950), 194-198.
- [8] B.C. Berndt, S.H. Chan, B.P. Yeap, and A.J. Yee, A reciprocity theorem for certain q-series found in Ramanujan s lost notebook, Ramanujan J., 13 (2007), 27-37.
- [9] S. Bhargava, D.D. Somashekara, and S.N. Fathima, Some q-gamma and q- beta function identities deducible from the reciprocity theorem of Ramanujan, Adv. Stud. Contemp. Math. (Kyungshang), 11 (2005), 227-234.

- [10] G. Gasper and M. Rahman, Basic Hypergeometric Series, Encyclopedia of Mathematics, Cambridge University press. Cambridge, 2004.
- [11] P.S. Guruprasad and N. Pradeep, A simple proof of Ramanujans reciprocity theorem, Proc. Jangjeon Math. Soc., 9 (2006), 121-124.
- [12] F. H. Jackson, On q-definite integrals, Quart. J. Pure and Appl. Math., 41 (1910), 193-203.
- [13] F. Jouhet and M. Schlosser, Another proof of Bailey's 6ψ6 summation, Aequationes Math., 70, 1-2(2005), 43-50.
- [14] S.Y. Kang, Generalizations of Ramanujans reciprocity theorem and their applications, J. London Math. Soc., 75 (2007), 18-34.
- [15] T. Kim, D.D. Somashekara, and S.N. Fathima, On a generalization of Jacobis triple product identity and its application, Adv. Stud. Contemp. Math. (Kyungshang), 9 (2004), 165-174.

